
LOCTITE

Apply Loctite to all screws

CNC HARDENED STEEL TAIL ROTOR SHAFT/ HUB SET

MH-18FX043S

1

BLADE 180 CFX  HELICOPTER CNC Hardened Steel Tail Shaft/Hub set INSTRUCTION

.....x2

1.4x2.5x0.3mm Stainless Steel Washer

Apply Loctite

LOCTITE

REV. 18FX043S-210917-02

01

CAUTION: Please check your model helicopter carefully before attemp to fly!

COPYRIGHT © 2015 MICROHELI

®

MICROHELI CO., LTD.

.....x1

1.6x3.5X0.3mm Stainless Steel Washer

Tail Rotor Shaft

MH-18FX043RS

M1.4x3mm

Phillips Head Screw

M1430PSS

1.4x2.5x0.3mm

Stainless Steel Washer

142503WSS

Tail Blade Grip

(Stock part

not included)

Tail Rotor Hub

MH-18FX043RH

Tail Blade Grip

(Stock part

not included)1.4x2.5x0.3mm

Stainless Steel Washer

142503WSS

M1.4x3mm

Phillips Head Screw

M1430PSS

Tail Shaft

(Stock part

not included)

Tail Blade Grip

MH-18FX043BG

(Not included)

Tail Blade Grip

MH-18FX043BG

(Not included)

M1.4x3mm

Phillips Head Screw

M1430PSS

Tail Rotor Hub

MH-18FX043RH

1.6x3.5x0.3mm

Stainless Steel Washer

163503SSW

M1.6x4mm

Cap Screw

M1640CSS

M1.6x4mm

Cap Screw

M1640CSS

1.6x3.5x0.3mm

Stainless Steel Washer

163503SSW

.....x2

M1.4x3mm Phillips Head Screw

.....x1

M1.6x4mm Cap Screw


	Sheets and Views
	Model


